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Page 257 Exercise 2
19
2 a) 9,10, 11,14, 15,16, 19 b) 14
3 a)14 b) 42 ) 18 d)8
e) 2 f) 22 g) 84 h) 106
a) 5,6,6,8, 11,12 b) 6,8 7
a) 13 b) 4 )6
d) 17 e) 45 f) 61
21
97 books
£20
a) 4.9 b) 4.4
10 a) -7,-3,-1,2,5 b) -1
1 a)-2 b) -7 c) -2
12 a) 12,13, 14 or 15

b) 9

[LIFS
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18.4 Averages and Range

Page 255 Exercise 1
17
2 a)1,22358 b) 7
3 Mode =6, Range = 6
4 a)i) 7
b)i) 23
c)i) 1
dyi) 1
) i) 52
f) i) 46
g)i) 91and 94
h) i) no mode

5 a)67
6 £749
7 a)6 b) 32
8 a) 380 miles b) 646 miles
9 a)7°C b)—1°C
10 a) i) -3 i) 6
b)i) 2.1 i) 0.8

o i) 11 i) 23
d)i) -59 i) 8.6
14,779
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1 a)25 b) 5

2 a6 b) 4 08 d) 12
f) 12 g) 18 h) 24 i) 50

3 a)65 b) 9.5 c)78

) 29.8 f) 56.5 9)36

88p

24

150 g

29°C

a) 20cm b) 19 cm

a) -4 b) -9

d) 715 e) 12.1

10 -1°C

© o~ e

e) 15

i 23
d) 22.6
h) 57.7

c) -3
f) 236
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1 18
2 a)i) 295 ii) 13
b)i) 29 ii) 26
3 a) 142 miles b) 123 miles

Averages and Range from

les

Page 262 Exercise 1
11
2 a)3 b) 5
Page 263 Exercise 2
1 a) 11th position
b) 2
2 22°C
3 3




image5.png
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1)
Words [ | Words x
remembered Frequency
7 2 7x2=14
8 3
s 6
10 2
1 2
12 1 12x1=12
Total 16 146
b) 9 words
2 a)andb)
Glasses | Frequency g':::::;
1 3 3
2 7 14
3 3 9
4 1 4
Total 14 30
©) 2 glasses
3 2blackbirds
4 a)125 b) 1.75

) The advert appears to have been successful as the
mean number of cars sold per day increased after

the advert was played.




